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1. Not all limit questions have valid answers. Limits may not exist because the quantity may approach 

infinity, or the quantity may oscillate but not approach a value, or the quantity may approach an undefined 

situation. 
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 is read, “The limit as x approaches 0 from the left of …”  This limit is -1. 
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 is read, “The limit as x approaches 0 from the right of …”  This limit is 1. 
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 can be found by rationalizing the numerator.  That’s right not the denominator, but the 

numerator.  Multiply top and bottom by the conjugate of the top. 
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9. We’ve discovered a new technique. Rationalizing the Numerator!!!  It’s likely that you’ve never run into a 

situation where this was necessary. 
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